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. The capacity to offer individually tailored products of services on a large scale is called:
. economy of scale.

1

a

b. mass customization.

c. electronic commerce.

d. collaboration.

e. JIT

. Networked information systems allow companies to:
. Do business with fewer employees.

2

a

b. Cut management costs.

c. Deal with financial information more securely.

d. Maintain the security of proprietary information. -
e

. Coordinate with other organizations across great distances.

. Inefficiencies in the supply chain are caused by:
. underutilized plant capacity.

. excessive finished goods inventory.

. Tunaway transportation costs.

. inaccurate or untimely information.

o A0 o 8 W

. parts shortages.
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. Collaborative commerce is the art of:
a. keeping everyone happy.
b. creating and maintaining a set of digitally-enabled cooperative interactions between an
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enterprise and its business partners and customers.
c. sharing internal information between companies.
d. creating a better, more efficient product in a global environment.
€. tracking and analyzing the movement of materials and products to ensure that materials and
finished goods ‘are delivered at the right time and place at the minimum cost.

5. Systems linked to the Internet are especially vulnerable to security breaches because: -
a. they lack firewalls.

b. they do not have secure physical facilities.

c. security is beyond the expertise of most IT professionals.

d. the Internet is designed to be an open environment.

e. they are vulnerable during the night hours.

6. DSS, GDSS, and ESS are part of a special category of information systems that are
explicitly designed to:

a. make decisions for managers.

b. enhance Web performance.

c. gather data and build data warehouses.

d. enhance managerial decision-making.

e. interpret data for management.

7. A physician wants an information system that can help in the diagnosis of rare diseases by
suggesting diagnostic procedures and help in interpreting the symptoms that are found. This
type of information system is called a(n):

a. End user information system.

b. Expert system.

c. Executive information system.

d. Integrated information system.

8. This database model consists of data values describing the attributes of an entity, and the
operations that can be performed upon the data:

a. Hierarchical structure.

b. Network structure.

c. Relational structure.

d. Object-oriented structure.

e. None of the above.

& FEhAERA




$—R #£=7

9. Which one of the following statements concerning methods of file organization is true?:

a. In the indexed sequential method, records are organized randomly and referenced by an
index.

b. Organizing the records in a file according to a predetermined sequence is known as a
sequential file organization.

c. Organizing the records in a file according to an alphabetical order based on the last names
of employees is an example of non-sequential file organization.

d. Placing records in a file in no particular sequence is called the sequential method of file
organization.

e. All of the above.

10. A graphic method of representing entity classes and their relationships is
a. A query-by-example tool.

b. An entity-relationship diagram.

c. An intersection relation diagram.

d. A flowchart.

11. A secure network that uses the Internet as its main backbone network to connect the
intranets of a company's different locations, or to establish extranet links between a company
and its customers, suppliers, and other business partners is called a(n):

a. Intranet.

b. Extranet.

c. Virtual private network.

d. Client/server network.

12. Apply one of the key e-commerce success factors of retailing on the Web to the following
statement: “Giving online customers with similar interests a feeling of belonging to a unique
group of like-minded individuals™:

- a. Performance and service efficiency.

b. Personalization.

c. Look and feel of the site.

d. Community relationships.

13. Which one of the following is an example of an unstructured decision at the strategic level
of management?:

a. Site location.

b. Production scheduling.
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c. New business planning.
d. Employee performance appraisal.
e. All of the above.

14. Slicing and dicing in online analytical processing involves:

a. Aggregation of data.

b. Analyzing data in the reverse direction and displaying detailed data that comprises
consolidated data.

¢. Looking at the databases from different viewpoints.

d. Push reporting.

e. All of the above.

15. Which one of the following is a characteristic of decision support systems?:
a. Provides interactive inquiries and responses.

b. Provides information in a prespecified fixed format.

c. Provides indirect support designed for many managers.

d. Supports structured decisions.

e. All of the above.

16. Which type of analysis should be used to answer the following: Let's cut advertising by
$100 repeatedly so we can see its relationship to sales?:

a. Sensitivity analysis.

b. Optimization analysis.

¢. What-if analysis.

d. Goal-seeking analysis.

e. None of the above.

17. Artificial intelligence is a science and technology based on:
a. Computer science.

b. Biology and psychology.

c. Linguistics and mathematics.

d. All of the above.

18. Systems that can learn to recognize patterns in data that are incomplete or only partially
correct are called:

a. Knowledge-based systems.

b. Neural networks.

c. Fuzzy logic systems.

d. Expert systems.
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19. Computing on the Internet uses:

a. the client/server model.

the power of microwave telecommunications.

much of the financial resources of the modern firm.
centralized processing.

more powerful mathematic and graphics capabilities.
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20. Which one of the following is most applicable to high-level languageSV

a. They do not have to be translated by a compiler before execution.

b. They use mnemonics for operation codes.

c. Most program instructions correspond one-to-one with machine language instructions.
d. They are generally machine-independent.

¢. None of the above.

=~ K4 (60%) |
1~ MK % (DataMining) RUAEFH FERTHATHMOMSG > FHEH
RHe 7 BRARRHE? F 00 RE0A - (20%)

2 PRAEBFBABXHETFRRETHZIN > B EAT AL EFHHFHES
#HKX? (20%)

3T EAAEE S (Business Process Outsourcing » BPO) ? 4T BPO A ¥
HBLEREAT? (20%)



	5-1.pdf
	5-2.pdf
	5-3.pdf
	5-4.pdf
	5-5.pdf

